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Ozgd=¢ 1,680
o FUHUESXNRAME AR FHd+=G
70,000 »2H » 128 1,680
Hol2d ZMREE HFANE SNIA(BX) 942,494 942,494 0
< 94,249
Al 848,245
307 21201 A 942,494 942,494 0
< 94,249
Al 848,245
10 ALSISXAIEEE2EHEX 942,494 942,494 0
O 2 ZFUHREE HFAE 2dH N2
942,494,000 942,494
< 94,249
Al 848,245
Ol &l EdHIE NA(EX) 3,000 3,000 0
= 2,100
< 270
Al 630
301 LEEAS 3,000 3,000 0
= 2,100
< 270
Al 630
01 MEIBEE 53 3,000 3,000 0
O E4HE XA 3,000,000 3,000
= 2,100
< 270
Al 630
Hol2d HREE H=A4E 29X (BX) 575,262 524,974 50,288
= 402,683
< 34,516
Al 138,063
307 21201 A 575,262 524,974 50,288
= 402,683
= 34,516
Al 138,063
10 M2 SXNANEHEZSIHEX 575,262 524,974 50,288
Ho2E FMREE HF=ALE 294 X
575,262,000 575,262
= 402,683
< 34,516
Al 138,063
ZOHAEHAH S ==cldl XA 5,000 5,000 0
301 LENF 5,000 5,000 0
01 MEIBEE 263 5,000 5,000 0
OZMHAENAH S =cldl XN 5,000,000& 5,000
ORI =AIA CCTV BlEHl RB(EX) 1,440 0 1,440
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AN FUASIIB
Hegs(

Hy: YRS (FU=XY)
e WHEHHKS(F=e=X) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o gﬁ‘&i HRE2
701 JIEISI HSHEZ 2,533,753 2,387,429 146,324
01 JIEIS HE =2 2,533,753 2,387,429 146,324
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